Think of a number, any number:

1) Choose your favorite number b/w 1 & 20.
2) Double it.

3) Add 10.

4) Divide by 2.

5) Subtract your starting number.

Write your result on your desk and cover it up.




T 's learnin lective:

By the end of class, | will be able to solve
logarithmic problems utilizing the full suite of
log properties.

T 's lan

Division ~ subtraction
Multiplication ~ addition
Base — The baat 48 The bat*

Input vs Output




all questions are non-calc

[Maximum mark: 13]

Solve the following equatlons '
(a) log ,49=2 ’X L[ q ﬂ [3 marks]
(b) log,8=x 6 m /
2_ |
1 =
£ X= mar

(d) log,x+log,(x 5!1} [5 marks]

...?-x)::3



17.)  Solve logax + logy(x —2) = 3

=4

¢®



74) Letf(x)=logax.x>0.

(a) Write down the value of

' 2
O fay /oaﬁa = 7 "’l"a - K X 0

@) f(L); O
Qi) f(a*). L‘



88.)  Find the exact value of x in each of the following equations.

@ 5M=625 = 5" x'-"-:?)

(b) loga(3x+5)=2

az':. 3\(1-5

(Tota




126.) Solve the equation logy7 x =1 —logy7 (x — 0.4).

|09, 4%+ Ibﬁz\- (- 04)= |

f)(:z'- b-1x - 1t =0

5¢¢,Z¢—I35=0



145.) Solve the equation logg 81 + logg % . logg 3 = logg

IDS &2:" = lojqx



\D%onq -

L[Ioﬁx



Do you like turducken?




Find the inverse fory = 5x — 2




T 's learnin lective:

By the end of class, | will be able to write
iInverse and composite functions and remind
myself of logarithmic rules.




[Maximum mark: 6]

The functions f and g are defined by f (x);) ., o g(x):,’ xX+2.
(a) Find an expression for (fog)(x)= 3 (')L-I-Z) - 3‘)(. i [2 ma

(b) Find f'(18)+g7'(18). [4 ma

T



Let f(x)=klog, x.

(a) Given that ftl(l)=8,ﬁndﬂlcvalucofk.

(b) Find [%)



Consider the functions fand g where f(x)=2x—3 and g (x) =x—4.

(a) Find the inverseﬁmction:{'_landg'l;: +t+4
% x3 AL
(b) Find (" °f)(X)-\z_v@x-—®‘t‘Ll ]
x-l -7t}

© Given that (F' o g) (=22 . solve (F ' = gF () = (& =) ().
u A-1=Hx+ L
Leth)=2% 22

g(x)

(d) (1) Sketchthe graphof/hfor—3 <x<8and-2<y<8, includin

(1) Wnte down the equations of the asymptotes.



6+ S\n%—S ‘n 0.5
5+ 5(1n3-10.5)

RN P




[Maximum marks 7] ,n _ '{)
Letf(x)=In(x+2)+In5, forx>-5. Se
(a) Find /(). X = )n‘(saflo) &‘x - S"J"'lo
)
e ~10
Letg (x) =e*+2 8= -'-'-5—"'

(b) Find (g = f) (x), giving your ainthefmw“rherea,b,e Z.
(In 57"!'“7) +2



1)

Let fix) =7 —2x and g(x) = x + 3.

(a) Find (g ° /().
(b)  Write down g—l(x).

(¢) Find (fo g H)(5).

(Tot



2 et flx) = logs % + log3 16 —logs 4, for x> 0.

IO -
no™ e
(@) Show that fix) = logs 2x.

(b)  Find the value of f{0.5) and of f(4.5).

O A

In
The function f can also be written in the form flx) = =

Inb
(c) (1) Write down the value of @ and of b.

(1) Hence on graph paper, sketch the graph of f. for -5<x<5.-5<y<35, using
scale of 1 cm to 1 unit on each axis.

(111) Write down the equation of the asymptote.

(d) Write down the value of f~(0).

The point A lies on the graph of f. At A, x =4.5.

()  On your diagram, sketch the graph of f~ 5 noting clearly the image of point A.



